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f.ol‘lowing in brief :
(@) Which of the following is an example of
measurement?
() Madhab’s IQ is 115
(i) Kohli scored 50 in & cricket match
(iii) Binod scored 65 in English
(iv) All of the above
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(2)

(b) Mention one of the internal factors that
affect reliability of a test.

(c) . Write the-formula to determine median
from grouped data.

(d) What is the number of items in the
Stanford Revision of the Binet-Simon
Intelligence Scale, 1916?

(e)

Mention one advanta

ge of frequency
polygon over histogr.

atl.

i/

Fill in the blanks -

1x3=3

(@) When the number of items in g test is
increased, its validity —

(b) The name of Kar] Pearson ig associated
with the — method of determimng
coefficient of correlation,

(c)

The full form of AT S P

Write short notes on the following -

[

4x4=16
(@) Distinction between measurement and
evaluation
(b) Blueprint of an achievement test
Specific aptitude testg
(d)

Scope of educationa] Statistics
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( 3)
: in education?
: aluation in €
What is meant by eV tinuous and
Explain the terms con 3+4+4=11

A tions.
comprehensive evalua

i it of
cribe in brie .

2+8=10
the qualities of a good test. .
Or

. ; nt types of
DR b Explain the differe 2+8=10
Norms.

asurement of
individual
4+6=10

e
Write the importance otl'3 ertr:v a
intenigence. Distinguish o
and group intelligence tests.

Or

. .«? Describe
inventories:
What are self-report inv vantages of self-

isad
iy aRraniaees ¥ f;z?s of assessment?’og—lo
®port inventories as 4+3+3=
Personality.

sitive and negative

Explain the concepts of PO 2+2=4

Correlations with appropriat

1 ith a
What is meant by skewness? Explain wi

3
diagram.

Me tw' ] of

nt ; its and o demerits

ilon two merits

I1.163":1111 measure of central tendency. 2+2 I
as a
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(4)

10. Find out the standard deviation for the

following frequéncy distribution table : 7
Class interval Frequency
45-49 3
40-44 4
35-39 6
30-34 15
25-29 8
20-24
N = 40

11. Find out the coefficie
rank-difference metho
data and interpret it -

nt of correlation by
d from the following

6+1=7
EolliNo- ptiiti, AR B SR G LS Y L1
X 9 T S A 65 50 55
Y

OO S B A 73 59 45

* ok A&
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